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2nd floor: Apartment B DSP10-1

192.168.0.103
Call number: 103

t
1t floor DD15-3-M
192.168.0.102
Call number: 102
Office Ground floor

TZ07
192.168.0.104

DSP10-1
192.168.0.101

O Call number: 104 Call number: 101
ﬁ DIVUS-VS1

80 192.168.0.100

=] VoIP server

OPENDCOR

SIP: 192.168.0.122
Cam: 192.168.0.123
Call number: 902

VIDEOPHONE-BOX
VolIP: 192.168.0.120
Video: 192.168.0.121
Call number: 901

Position: South entrance
Ring button 1: reserve
Ring button 2: Apartment B

Position: North entrance
Ring button 1: Wohnung B
Ring button 2: 15t + ground floor

Ring button 3: 15t + ground floor
Ring button 4: Office

area2: Office areal: Building A
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